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1. forREm e o 1x8=8

Answer as directed :

(@) oRf TIPER O |
Primary data are in nature.

(1 51 o )




(b)

()

(d)
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Mention any one source of collecting
secondary data.
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If 3 is added to each value of/a series,
then the AM of the series will increase by
3 /remain same.

(% Teqeo1 1R Tferean)

(Choose the.correct answer)

QoS WY 9ol IR e 91 |
Mention one use of geometric mean.

woTe Al (PO A e ey Rere
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Which of .the following measures is
suitable tormeasure dispersion in open-
end classes?

(i) =S
Range
(i) T9YF fvem
Quartile deviation
(iii) T Koo
Standard deviation
(iv) 1% oa |
Mean deviation '
(% BT 1R Tferedn)

(Choose the correct answer)
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Standard deviation will change/remain
same if origin is changed.

(W TG 1R Tfered)

(Choose the correct answer)

() STIIT o= A [ofe =g 2’ 1A

Base year for the construction’ of an
index number should be

(i) (I Qb1 I=I
a year only
(ii) 901 FelRF I=d
a normal year
(iti) ST IR H9E IBF
a previous year of a current year
(iv) S99 I8 Ty

None.of the above

(= Te<co 1R Sfersan)

(Choose the correct answer)

(h) M Fog o TPHR W SR_E© I =7
o S FRICA T SUEAT AN
S, (908 T (I g TR I 2 9
If the independent variable increases by
equal interval and the figure to be
interpolated is in the first part of the

series, then  which formula of
interpolation 1S Used?



2. R R @ sif¥bm 5 G o 4x4=16
Write short notes on any four of the following :
(@) ~IfRAM R o

Uses of statistics

(b) WY
Mean
(c) TG e

Mean deviation

(d) SPIRFT I[N
Uses of index number

(e) fSoaT P! 4
Newton’s backward method

3. (@) U O |F (NI O Jr&a A1 #1211 30
w2y ez FHR [fen “@mfowe & 2 4+7=11
Distinguish betweén primary data and

secondary data. 'What are the different
methods of collecting primary data?

&< / Or
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Distinguish  between censu's and
sampling.  Explain in brief the
comparative advantages ar}d
disadvantages of these methods. Explain
the condition ynder which these
methods may be ysed.



4. (a) THH TF TR N | AT AT
P SR (e G N4 (oI (FEAE AT 91
'31, EHENESTIR 4+7=11
Define median and mode. Explain how

these two measures are calculated in
case of grouped and ungrouped data:

w24l /Or

(b) 43 =AfSdT AP IR Tl (TGS
offe oY fofes afafes sro ey <41 11
Calculate arithmetic average “of daily
wages of an enterprise as shown in the
following distribution :
¥gi< (697) 1525 .[25=35 3545 45-55
Wages (T)
X1 30

No. of labourers

¥gi< (67) 55-65 65-75
Wages ()
2 R o .
No. of labourers

5. (@) PN, v@Ue RoeH SIF qwe Roem e fi |
eR Y F FIUPR TEY FM | WR
Rioqe @ARY T THe® o @[ = 9
17 3+6+3=12
Define range, Qquartile deviation and
standard deVlatlf)n. Mention their
advantages and dlSadvantages. Out of

these methods, Which method do you
consider best and why?
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(b) TER YR o[ T [ fRefy 3oy

2T / Or

12

Calculate standard deviation from the
following data :

TN

Class

0-10

10-20

20-30

30-40

40-50

50-60

60-70

SISKSIE
Frequency

15

6. (a) pIT 7 e TS wf Pl I

(b)

R otep F91 =W 2 PIIFT SNREe! Tesry 397
2+5+4=11

What is an index number? Why is

Fisher’s index number considered as an

ideal index number? Mention the
limitations of index number.

&<T / Or

o] SIS fSfee (1) A=fme o< (i) Rres
S S LCHIE IR 2016 579 To P ol
30 5+6=11
Calculate the price index number for the

year 2016 by using (i) Laspeyre’s formula
and (i) Fisher’s ideal index formula from

‘the following data :

%4/ Price

{719 /

uantity

71 / Goods

2010

2016

2010

2016

2
4
6
8
10

moOmW>»

40
50
20
10
- 10

o1 OO 00 O

S0
40
30
20
20




7. (@) SELH IE Qe 2 TE SR, AR
F SmerhyE w34 | 2+3+3+3=11

(b)

What is interpolation? Discuss the
assumptions, advantages and
limitations of interpolation.

241 /Or
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Below are given the values of the
independent variable ~x ‘and the
corresponding values of the dependent
variable y. Estimate by a suitable
method of interpolation, the value of y
when x is equal to.26::°

x : 20 .25 30 35 40
y : 23 %26 30 35 42
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